Fill in this in	formation to identify the case:
Debtor 1	Oak Creek Distribution LLC
Debtor 2 (Spouse, if filing)	
United States	Bankruptcy Court for the: Northern District of Illinois
Case number	18-30055

# Official Form 410

## **Proof of Claim**

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

G	Part 1: Identify the C	aim
1.	Who is the current creditor?	Concord Import Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor
2.	Has this claim been acquired from someone else?	☑ No □ Yes. From whom?
3.	Where should notices and payments to the creditor be sent? Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Where should notices to the creditor be sent?       Where should payments to the creditor be sent? (if different)         Coface North America Insurance Company Name       Name         650 College Road East, Suite 2005       Number         Number       Street       Number         Princeton,       NJ       08540         City       State       ZIP Code         Contact phone       609-469-0459         Contact email       amy.schmidt@coface.com         Uniform claim identifier for electronic payments in chapter 13 (if you use one):
4.	Does this claim amend one already filed?	<ul> <li>✓ No</li> <li>❑ Yes. Claim number on court claims registry (if known)</li> <li>Filed on</li></ul>
	Do you know if anyone else has filed a proof of claim for this claim?	<ul> <li>✓ No</li> <li>❑ Yes. Who made the earlier filing?</li> </ul>

6.	Do you have any number you use to identify the debtor?	No Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 7 4 2 9
7.	How much is the claim?	<ul> <li>\$ 6,381.50.</li> <li>Boes this amount include interest or other charges?</li> <li>✓ No</li> <li>✓ Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).</li> </ul>
8.	What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. Goods Sold
9.	Is all or part of the claim secured?	No         Yes.       The claim is secured by a lien on property.         Nature of property:       Real estate. If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim.         Motor vehicle       Other. Describe:         Basis for perfection:
	lease?	<ul> <li>✓ No</li> <li>❑ Yes. Amount necessary to cure any default as of the date of the petition. \$</li></ul>
1.1	right of setoff?	<ul> <li>✓ No</li> <li>❑ Yes. Identify the property:</li></ul>

12. Is all or part of the claim	I No	
entitled to priority under 11 U.S.C. § 507(a)?	Yes. Check one:	Amount entitled to priority
A claim may be partly priority and partly	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
nonpriority. For example, in some categories, the law limits the amount entitled to priority.	Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
chilled to phony.	Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4).	\$
	Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
	Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
	Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or after	er the date of adjustment.

Part 3: Sign Below										
The person completing this proof of claim must	Check the appr	opriate box:								
sign and date it.	I am the creditor.									
FRBP 9011(b).		editor's attorney or authorized ag	ent.							
If you file this claim electronically, FRBP		I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.								
5005(a)(2) authorizes courts to establish local rules	🔲 I am a gua	rantor, surety, endorser, or other	codebtor. Bankruptcy Ru	e 3005.						
specifying what a signature is.	l understand that amount of the c	at an authorized signature on this laim, the creditor gave the debtor	Proof of Claim serves as credit for any payments r	an acknowledgment that when calculating the received toward the debt.						
A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5	I have examined and correct.	d the information in this Proof of (	Claim and have a reasona	ble belief that the information is true						
years, or both. 18 U.S.C. §§ 152, 157, and 3571.	l declare under	I declare under penalty of perjury that the foregoing is true and correct.								
	Executed on dat	te <u>12/18/2018</u> MM / DD / YYYY								
	/s/ Amy S <sup>Signature</sup> Print the name	Schmidt of the person who is completir	ig and signing this clain	 1:						
	Name	Amy Schmidt								
	Name	First name	Middle name	Last name						
	Title	agent								
	Company	Coface North America Ir	surance Company							
		Identify the corporate servicer as th	e company if the authorized a	agent is a servicer.						
	Address	650 College Road East, Number Street	Suite 2005							
		Princeton,	NJ	08540						
		City	State							
	Contact phone	609-469-0459	- Emai							

Concord Import 3151 Fruitland Ave. Vernon CA 90058 TEL: (323)588-8888 FAX: (323)588-2288

11/20/18 9:00:am Invoice Inquiry Open Invoice In	nformation User: X1
CUST: HOBO26 OAK CREEK DISTRIBUTION LLC dba 2650 BELVIDERE ROAD CRDT LM: 10,000.00 LST PAY: 3,603.78 WAUKEGAN, IL 60085 SLS REP: Solly USA TERMS : NET 30 DAY	CURRENT: .00 1-30: .00 31-60: .00 61-90: .00
CONTACT: KEITH KELLY 4 MO AV DAYS: 0 DEPOSITS: .00	91-UVR: 6,381.50 UNSPEC: .00
PHONE: (847)263-1240 CR HOLD: No BUSN TYPE: 1 Glassware Flower Shop CELLH: SERVICE REP: FAX ND: (847)263-1232 AGING DATE: 11/14/18 INT.PHONE: INT FAX#: E-MAIL: KKELLY@HOBOONLINE.COM	
INVOICE INDUIRY	
INVOICEN PON/CKN INV DATE TRA DUE DATE ORIG ANT	PAID ANT BAL DUE
16932991         06/29/18         N30         07/29/18         141.00           16931591         M08001950         06/29/18         N30         07/29/18         980.50           16932701         T00901179         06/29/18         N30         07/29/18         846.00           16931701         C009080019         06/29/18         N30         07/29/18         994.00           16932201         P00001111         06/29/18         N30         07/29/18         994.00           16932201         P00001111         06/29/18         N30         07/29/18         994.00           16932201         P00001111         06/29/18         N30         07/29/18         994.00           16932301         C00001207         06/29/18         N30         07/29/18         918.00           16953701         R0001804         06/29/18         N30         07/29/18         1,056.00           16932501         S0001810         06/29/18         N30         07/29/18         1,056.00           16932501         S0001810         06/29/18         N30         07/29/18         1,056.00           16932501         S0001810         06/29/18         N30         07/29/18         918.00	.00 846.00 .00 994.00 .00 608.00

.

\*\* END \*\*

Start. With a ville		Case 18-30055	Claim 21-1 Parl	t 3 File	d 12/1	9/18	Desc E	Exhibit	Page 1 d	of 4
	dolla	ritem .com	Od Cd. Cavitland	The Bette						Import
and the second se			3151 Fruitland Fell:(323) CON-CORI							
sc	OLD TO:	OAK CREEK DISTR HOME OWNERS BAR 2650 BELVIDERE F WAUKEGAN, IL 600	BUTION LL GAIN OUTLET ROAD	Estatumente al manadore		HOB( 265(	) 24 0 BELVI			PAGE
		KEITH KELLY				(847	7)263-1	240		
CONTAC	Гſ:			· T	EL:		·			)
14693	2301 (	BOBO26 D06/29/1	&pSolly		Oustn	er Pic	k UNET	s30 DAY		Invoice
Ln# Itor 1 9		Cmark Description 93574 GLASS JA H14W5	R PEDESTAL H14	ORIGN	Qshp 12	UM EA	РК 1	PCS 12	Unit \$ 7.00	Total 84. 00
2 93	3573	93573 GLASS JA H13W4.5	R PEDESTAL H13	CHI	12	EA	1	12	7.00	84.00
		73449 GLASS JA H17W4.5		CHI	6	EA	1	6	9.50	57.00
		73449 GLASS JA H13W4		CHI	6	EA	1	6 '	10.00	60.00
		H15W10D7.5	5x(B)8in GLASS	CHI	6	EA	1	6	7.50	45.00
		H9W5D7	5xD7 GLASS VAS	CHI	12	EA	1	12	6.00	72.00
		61078 JAR H22.: H22.5W4		CHI	6	EA	1	6	8.00	48.00
P. 6		72512 18Hx6in . H18W6		CHI	6	EA	1	6	9.00	54.00
01-04-4-70		73272 CERAMIC ( H6W6			1	CS	12	12	3.50	42.00
10 73		H6W6	CUBE GRAY H6xW		1	CS	12	12	3.50	42.00
11 73		H5W5	WBE BLUE H5xW		12	EA	1	12	2.50	30.00
		73274 CERAMIC C H5W5			12	EA	1	12	2.50	30.00
13 71	1	71912 opening E H9W4D8 72407 O POLL US			1	CS	12	12	6.00	72.00
14 72	}	72497 2 BALL HA H8.75W5.25		CHI	12	ΕA	1	12	3.00	36.00
	ł	70364 CANDLEHOL 45.5W3 70363 CONDLE UD			1	CS	12	12	2.00	24.00
16 70.	202 I	70363 CANDLE HO 47W3	LDER W.WIRE H		1	CS	12	12	4.00	48.00

Case 18-30055 Claim 21-1 Part	3 Filed 12/19	/18 Desc Exhibit	Page 2 of 4
dollaritem .com	The Better choice		Import
3151 Fruitland / Tell:(323) CON-CORD	Ave, Vernon, Californ		
DAK CREEK DISTRIBUTION LL	· Or (525) 500-560	HOBO 24	PAGE 2
SOLD TO: HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	SHIP TO:	2650 BELVIDERE R WAUKEGAN, IL 600	DAD
KEITH KELLY		(847)263-1240	
CONTACY	. The second sec		
⊫⊉6932301 cHOBO26 p06/29/18pSolly	:Custine	er Pick UNE≣≋30 DA\	/ Invoice
Ln# tem# Cmark Description 17 73039 73039 RECT.SILVER FANCY DES1 H8W8D4	ORIGN Qshp CHI 1	UM PK PCS CS 12 12	Unit \$ Total 7.50 90.00
WARNING: To comply with requirements o	f Colifornia	<b>,</b>	
Proposition 65 some products may conta substances chemicals known to state of Canser, birth dfects or other reproduct candles should not be left unattended. are fragile and must be handled with ca fill vases with heavy articles as they injuries. RETURN POLICY: No return aff For more info on Prop 65 refer to www.p	in lead or oth california to ive harm. Burn WARNING: Gla WARNING: Gla are and gloves. may break and ter 10 days	cause ing ss vases Do not cause	
	, · · ·		
TOTAL CASES: 6 TOTAL WEIGHT:	2840.98	TOTAL AMOUNT;	\$ 918.00 USD\$

	Case 18-30055 Claim 21-1 Par Ilaritem .com 3151 Fruitland Tell:(323) CON-COF	The Bett d Ave, Verno D Or (323	er choice on,Califo ) 588-88	rnia 900 88 Fax:	958 U.S.A		Page 3	of 4 Import
SOLD	<sup>TO:</sup> OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	ŝ	SHIP TO:	300	0 26 W NOR LA PARI	ΓΗ ΑVΕ <, IL 60	0181	PAGE 1
CONTACT:	KEITH KELLY	· 1	EL:	(84)	7)263-1	240		
Invii	Cust# Date Rep		Ship Vi		Tern			Invoice
Januar and the second of the second of the second s	1 HOBO26 06/29/18 Solly	an a		ier Pi	ck UNET	30 DAY	/ 	Malastando Congelidar - Section - Science - Scienc
Ln# Item#	Cmark Description	ORIGN	Qshp	UM	РК	PCS	Unit \$	Total
1 9357	4 93574 GLASS JAR PEDESTAL H14 H14W5		12	EA	i	12	7.00	84.00
2 9357	3 93573 GLASS JAR PEDESTAL H13 H13W4.5	CHI	12	EA	1	12	7.00	84,00
3 7344	B 73449 GLASS JAR H17x4.5in SI H17W4.5	CHI	6	EA	1	6	9.50	57.00
4 7344	9 73449 GLASS JAR H13x4in SILV H13W4	CHI	6	EA	1	6	10.00	60.00
5 6929	4 69294 JAR H12x6x(B)8in GLASS H15W10D7.5	CHI	6	EA	i	6	7.50	45.00
6 6929	H9W5D7	CHI	12	ΕA	1	12	6.00	72.00
	3 61078 JAR H22.5xW4 H22.5W4	CHI	6	ΕA	1	6	8.00	48.00
	2 72512 18Hx6in JAR H18W6	CHI	6	EA	1	6	9.00	54.00
	: 73272 CERAMIC CUBE BLUE H6xW H6W6		1	CS	12	12	3.50	42.00
10 73275	H6W6		1	CS	12	12	3.50	42.00
11 73271	H5W5		12	EA	1	12	2.50	30.00
	73274 CERAMIC CUBE GRAY H5×W H5W5		12	EA	1	12	2.50	30.00
13 71918	H9W4D8		1	CS	12	12	6.00	72.00
	72497 2 BALL HANGING CANDLE H8.75W5.25	CHI	12	EA	1	12	3.00	36.00
	70364 CANDLEHOLDER W/ WIRE H H5.5W3		1	CS	12	12	2.00	24.00
16 70363	70363 CANDLE HOLDER w.WIRE H H7W3		1	CS	12	12	4.00	48.00

	tem .cor	m	Claim 21-1 Par 3151 Fruitland	The Bette d Ave, Verno	) . er choice n,Califor	rnia 90055	BU.S.A		Page 4 of	of 4 Import
H 21	OME OW 650 BEL	EK DISTRI	BUTION LL AIN OUTLET OAD		HIP TO:	HOBO 300 l	26 V NORT	-2288 FH AVE K, IL 60	181	PAGE 2
CONTACT: KI	EITH KE	ELLY		· TI	EL:	(847)	263-1	240		
1	ust#		Rep		Ship Via		Terr			Invoice
16932501	and statements and		8 Solly	en helenantos de taxado ana sin	a billiola intervention intervention			30 DAY		comerciano en esta comercia de comercia de la comer
Ln# Itens# Ci	mark [	Description	n an third on the section of the sec	ORIGN	Qshp	UM	РК	PCS	Unit \$	Total
5	73039 H8W8D4	RECT.SIL	VER FANCY DESI	CHI	1	CS	12	12	7.50	90.00
Proposit substanc Canser,b candles are frag fill vas injuries	ion 65 es che birth d should lile and es with . RETU	some pro micals kr fects or not be l d must be h heavy a URN FOIIC	n requirements oducts may cont nown to state o other reproduc eft unattended handled with wrticles as the CY: No return a 5 refer to www	ain lead f califor tive harm . WARNIM care and y may bre fter 10 c	or oth rnia to m. Burn NG: Gla gloves ak and lavs.	o cause ning ass vas s. Do no d cause	PG			
TOTAL CA	ASES:	6	TOTAL WEIGHT:	2840.98		тс	)TAL F	MOUNT:	\$ 918.	00 USD\$

		Case 18-30055 Claim	n 21-1 Part	4 File	d 12/1	9/18	Desc	Exhibit	Page 1	of 8
	dolla	ritem .com _31	51 Fruitland A	<i>The Bette</i> Verno		nia 9005	8 U.S.A			Import
Sime	194 - Balance Johnson	Tell:(323	) CON-CORD	Or (323)	588-888	88 Fax:(3	123)588	-2288	nar Birlandinganan Arris (Studie)	
SC	OLD TO:	OAK CREEK DISTRIBUTION HOME OWNERS BARGAIN OU 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	N LL JTLET	S	HIP TO:		PLAIN	WFIELD R ., IL 60		PAGE 1
CONTAC	CT:	KEITH KELLY		· TI	EL:	(847	),263-1	.240	nankarana Zhannan a saya an an	
lnv#		Cust# Date Rep			Ship Via		Tern			Invoice
1693	32001	HOBO26 06/29/18 Soll	.y		Custm	ler Pic	k UNET	30 DAY		
Ln# ite	e manananan e manananan	Cmark Description	a Theory of the state of the st	ORIGN	Qshp	UM	PK	PCS	Unit \$	Total
		73449 GLASS JAR H17> H17W4.5		CHI	6	EA	1	6	9.50	57.00
27	73449	73449 GLASS JAR H13> H13W4	4in SILV	CHI	6	EA	i	6	10.00	60.00
36	59294	69294 JAR H12x6x(B)8 H15W10D7.5	in GLASS	CHI	6	EA	1	6	7.50	45.00
		69294 JAR H9xW5xD7 0 H9W5D7		CHI	12	EA	1	12	6.00	72.00
57	7346,4	73464 GLASS JAR H17> H17W4.5	4.5 GOLD		1	CS	12	12	12.00	144.00
66	51078	61078 JAR H22.5×W4 H22.5W4		CHI	6	EA	1	6	8.00	48.00
77	2512	72512 18Hx6in·JAR		CHI	6	EA	1	6	9.00	54.00
87	1912	H18W6 71912 opening BALL H H9W4D8	IЭхW4xD8		1	CS	12	12	6.00	72.00
97	2497	72497 2 BALL HANGING H8.75W5.25	GANDLE	CHI	12	EA	1	12	3,00	36.00
10 7	2228	71865 ROUND C/H 2PK H4W4	IN BLACK	CHI	1	CS	8	8	2.50	20.00
p s C a f F	Propos Substa Canser Sandle Ure fr Fill v Enjuri For mo	G: To comply with requ ition 65 some products inces chemicals known t birth dfects or other s should not be left u agile and must be hand ases with heavy articl es. RETURN POLICY: No re info on Prop 65 ref	a may conta to state of r reproduct unattended. lled with c es as they return af	ain lead F califo tive har WARNI care and may br fter 10 p65warn	or ot rnia t m. Bur NG: Gl glove eak an days. ings.c	o caus ning ass va s. Do d caus a.gov	ses not é	AMOUNT:	\$ 608	.00 USD\$
An and the second	E - SHARE BREAK AND							adı tildi çen en çek alıştılaşını, may e		anan sana ang ang ang ang ang ang ang ang ang

dolla	Case 18-30055 Claim 21-1 Part	The Bette Xve, Verno	er choice n,Californ	ia 900	58 U.S.A		Page 2	of 8 Import
SOLD TO	OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	S	HIP TO:	7630		VELT RD K, IL 6		PAGE 1
CONTACT	KEITH KELLY	· T	EL:	(847	7)263-1	240		and the second se
Inv#	Cust# Date Rep		Ship Vla	∎ në 2 ° në Pohene - ene 2 e	Term	9	n y die het verschende zur der Schneid der verschen der Schneid im der	Invoice
16931701	HOBO26 06/29/18 Solly		Custme	r Pic	k UNET	30 DAY		
Ln# item#	Cmark Description	ORIGN	Qshp	UM	PK	PCS	Unit \$	Total
1 93574	93574 GLASS JAR PEDESTAL H14 H14W5		12	EA	1	12	7.00	84.00
2 93573	93573 GLASS JAR PEDESTAL H13 H13W4.5	CHI	12	EA	1	12	7.00	84.00
3 73448	73449 GLASS JAR H17x4.5in SI	CHI	6	EA	1	6	9.50	57.00
4 73449	H17W4.5 73449 GLASS JAR H13x4in SILV H13W4	CHI	6	EA	1	6	10.00	60.00
5 69294		CHI	6	EA	1	6	7.50	45.00
6 69293		CHI	12	ΕA	1	12	6.00	72.00
7 61078	61078 JAR H22.5xW4 H22.5W4	CHI	6	EA	1	6	8.00	48.00
8 72512	72512 18Hx6in JAR H18W6	CHI	6	EA	1	6	9.00	54.00
9 73272	73272 CERAMIC CUBE BLUE H6xW		1	CS	12	12	3.50	42.00
10 73275	H6W6 73275 CERAMIC CUBE GRAY H6xW H6W6		1	CS	12	12	3.50	42.00
11 73271	73271 CERAMIC CUBE BLUE H5xW H5W5		12	EA	1	12	2.50	30.00
12 73274			12	EA	1	12	2.50	30.00
13 71913	71913 opening TEARDROP H10xW H10W3D5		12	EA	1	12	3.00	36,00
14 71912			1	CS	12	12	6.00	72.00
15 72497		CHI	12	EA	1	12	3.00	36.00
16 70364	70364 CANDLEHOLDER W/ WIRE H H5.5W3		1	CS	12	12	2.00	24.00

	Case 18-30055	Claim 21-1 Part	t 4 File	d 12/19	/18	Desc E	Exhibit	Page 3	of 8
dollari	item .com		The Bette						Import
		3151 Fruitland					2288		
Summer and summer and		Tell:(323) CON-CORE	J OF (323)	000-0000	orax.(3	23/300-	2200	to apple on the solution	and the second
H	DAK CREEK DISTR HOME OWNERS BAR 2650 BELVIDERE	GAIN OUTLET	S	HIP TO:		ROOSE	VELT RD K. IL 60	130	PAGE 2
h	WAUKEGAN, IL 60				1 DAL			.100	
			· T	EL:		)263-1		.100	encentran attac san source con source of
CONTACT: H	WAUKEGAN, IL 60		· TI	EL: Ship Via			240		Invoice
CONTACT: H	WAUKEGAN, IL 60 KEITH KELLY	085 Rep	· TI	Ship Vla	(847	) 263–1 Term	240		Invoice
CONTACT: R Inv# C 16931701	WAUKEGAN, IL 60 KEITH KELLY Cust# Dato	Rep 18 Solly	• TI ORIGN	Ship Vla	(847	) 263–1 Term	24Ø s	Unit \$	Invoice Total
CONTACT: R Inv# C 16931701 Ln# Item# C 17 70363	VAUKEGAN, IL 60 KEITH KELLY Cust# Data HOBO26 06/29/ Cmark Description 70363 CANDLE	Rep 18 Solly	tecnetic spit a generation of	Ship Via Custme	(847 er Pic	)263-1 Term k UNET	240 s 30 DAY		
CONTACT: K Inv# C 16931701 Ln# Item# C 17 70363 18 73039	VAUKEGAN, IL 60 KEITH KELLY Cust# Dato HOBO26 06/29/ Cmark Description 70363 CANDLE H7W3	085 Rep 18 Solly	tecnetic spit a generation of	Ship Via Custme Qshp	(847 er Pic UM	)263-1 Term k UNET PK	240 s 30 DAY PCS	Unit \$	Total

WARNING: To comply with requirements of California Proposition 65 some products may contain lead or other substances chemicals known to state of california to cause Canser, birth dfects or other reproductive harm. Burning candles should not be left unattended. WARNING: Glass vases are fragile and must be handled with care and gloves. Do not fill vases with heavy articles as they may break and cause injuries. RETURN POLICY: No return after 10 days. For more info on Prop 65 refer to www.p65warnings.ca.gov

TOTAL CASES: 8 TOTAL WEIGHT: 3288.99 TOTAL AMOUNT: \$ 994.00 USD\$

	ritem .com	The Bette Ave, Verno Or (323)	) er choice n,Californi	a 9005 Fax:(3	58 U.S.A 323)588-3		Page 4	Import
3010 10.	OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	5			S SOUTH	27TH S WI 532;		PAGE 1
CONTACT:	KEITH KELLY	· T	EL:	(847	263-1	240		
Inv#	Cust# Date Rep		Ship Via		Term	S		Invoice
16932701	HOBO26 06/29/18 Solly		Custme	r Pic	k UNET	30 DAY		
Ln# liem#	Cmark Description	ORIGN	Qshp	UM	PK	PCS	Unit \$	Total
1 93574	93574 GLASS JAR PEDESTAL H14 H14W5		12	EA	1	12	7.00	84.00
2 93573	93573 GLASS JAR PEDESTAL H13 H13W4.5	CHI	12	EA	i	12	7.00	84.00
3 73448	73449 GLASS JAR H17x4.5in SI H17W4.5	CHI	6	EA	1	6	9.50	57.00
4 73449	73449 GLASS JAR H13x4in SILV H13W4	CHI	6	EA	1	6	10.00	60.00
5 69293	69294 JAR H9xW5xD7 GLASS VAS H9W5D7	CHI	12	ΕA	1	12	6.00	72.00
6 61078	61078 JAR H22.5xW4 H22.5W4	CHI	6	ΕA	1	6	8.00	48.00
7 72512	72512 18Hx6in JAR H18W6	CHI	6	ΕA	1	6	9.00	54.00
8 73272	73272 CERAMIC CUBE BLUE H6×W H6W6		1	CS	12	12	3,50	42.00
9 73275	73275 CERAMIC CUBE GRAY H6×W H6W6		1	CS	12	12	3.50	42.00
10 73271	73271 CERAMIC CUBE BLUE H5×W		12	EA	1	12	2.50	30.00
11 73274	73274 CERAMIC CUBE GRAY H5×W H5W5		12	EA	1	12	2.50	30.00
12 72497	72497 2 BALL HANGING CANDLE H8.75W5.25	CHI	12	EA	1	12	3.00	36.00
13 70364	70364 CANDLEHOLDER W/ WIRE H H5.5W3		1	CS	12	12	2.00	24.00
14 70363	70363 CANDLE HOLDER w.WIRE H H7W3		1	CS	12	12	4.00	48.00
	73039 RECT.SILVER FANCY DESI H8W8D4			CS	12	12	7.50	
16 69294	69294 JAR H12x6x(B)8in GLASS H15W10D7.5	CHI	6	EA	1	6	7.50	45.00

Case 18-30055 Claim 21-1 Part		718 Desc Exhibit Page	5 of 8
dollaritem .com 3151 Fruitland	The Beller choice Ave, Vernon, Californ	ia 90058 U.S.A	Impori
Tell:(323) CON-CORE	D Or (323) 588-8888	3 Fax:(323)588-2288	·
SOLD TO: OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	SHIP TO:	HOBD 27 3545 SOUTH 27TH ST. MILWAUKEE, WI 53221	PAGE 2
CONTACT: KEITH KELLY	· TEL:	(847)263-1240	energe en se
Inv# Cust# Date Rep	Ship Via	Terms	Invoice
16932701 HOBO26 06/29/18 Solly	Custme	r Pick UNET 30 DAY	nonenerse en
Ln# Item# Cmark Description	ORIGN Qshp	UM PK PCS Unit :	6 Total
Canser, birth dfects or other reproduc candles should not be left unattended are fragile and must be handled with a fill vases with heavy articles as the injuries. RETURN POIICY: No return a For more info on Prop 65 refer to www.	. WARNING: Gla care and gloves y may break and fter 10 days.	ss vases . Do not cause	
TOTAL CASES: 5 TOTAL WEIGHT:	2840.98	TOTAL AMOUNT: \$ 8	46.00 USD\$

	Case 18-30055 Claim 21-1 Part Aritem .com 3151 Fruitland Tell:(323) CON-CORE	The Bette Ave,Verno O Or (323)	er choice n,Californ 588-888	nia 900	58 U.S.A		Page 6	of 8 Import
SOLD TO	<sup>C</sup> OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	S	HIP TO:	800	) 21 S. 108 F ALLIS	TH ST. , WI 53	214	PAGE 1
CONTACT:	KEITH KELLY	· T	EL:	(84)	7)263-1	240		
Inv#	Cust# Date Rep		Ship Via	an the single state of the second	Term	18	89999999999999999999999999999999999999	Invoice .
16931501	HOBO26 06/29/18 Solly		Custm	er Pic	sk UNET	30 DAY		2
Ln# Item#	Cmark Description	ORIGN	Qshp	UM	РК	PCS	Unit \$	Total
1 93574	93574 GLASS JAR PEDESTAL H14 H14W5		12	EA	1	12	7.00	84.00
2 93573	93573 GLASS JAR PEDESTAL H13	CHI	12	EA	1	12	7.00	84.00
3 73448	H13W4.5 73449 GLASS JAR H17x4.5in SI H17W4.5	CHI	6	EA	1	6	9.50	57.00
4 73449	73449 GLASS JAR H13x4in SILV H13W4	CHI	6	EA	1	6	10.00	60.00
5 69294	69294 JAR H12x6x(B)Bin GLASS H15W10D7.5	CHI	6	EA	1	6	7.50	45.00
6 69293	69294 JAR H9xW5xD7 GLASS VAS H9W5D7	CHI	12	EA	1	12	6.00	72.00
7 61078	61078 JAR H22.5×W4 H22.5W4	CHI	6	EA	1	6	8.00	48,00
8 72512	72512 18Hx6in JAR H18W6	CHI	6	EA	1	6	9.00	54.00
9 73272			i	CS	12	12	3.50	42.00
10 73275			1	CS	12	12	3.50	42.00
11 73271	73271 CERAMIC CUBE BLUE H5xW		12	EA	1	12	2.50	30.00
12 73274			12	EA	1	12	2.50	30.00
13 71913			12	EA	1	12	3.00	36.00
14 71912			1	CS	12	12	6.00	72.00
15 72497		CHI	12	EA	1	12	3.00	36.00
16 72228		CHI	5	EA	1	5	2.50	12.50

Case 18-30055 Claim 21-1 Part			Page 7 of	
dollaritem .com . 3151 Fruitland A	<i>The Better choice</i> Ave,Vernon,Califo	rnia 90058 U.S.A		Import
Tell:(323) CON-CORD	) Or (323) 588-88	88 Fax:(323)588-2288	Next State of the second state of the	mana and the
SOLD TO: OAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085	SHIP TO	HOBO 21 800 S. 108TH ST. WEST ALLIS, WI 5		PAGE 2
CONTACT: KEITH KELLY	· TEL:	(847)263-1240		en e
Inv#         Cust#         Date         Rep           16931501         HOBO26         06/29/18         Solly	Ship V Cust	la Terms mer Pick UNET 30 DA	v	Invoice
Ln# liem# Cmark Description	ORIGN Qshp		, Unit \$	Total
17 73464 73464 GLASS JAR H17x4.5 GOLD H17W4.5	8	EA 1 8	12.00	96.00
WARNING: To comply with requirements of Proposition 65 some products may conta substances chemicals known to state of Canser, birth dfects or other reproduct candles should not be left unattended. are fragile and must be handled with c fill vases with heavy articles as they injuries. RETURN POLICY: No return af For more info on Prop 65 refer to www.	ain lead or o f california tive harm. Bu WARNING: G care and glov / may break a fter 10 days.	to cause rning lass vases es. Do not nd cause		
TOTAL CASES: 3 TOTAL WEIGHT:	2668.99	TOTAL AMOUNT:	:\$ 900.;	50 USD\$

Case 18-30055 Claim 21-1 Part dollaritem .com 3151 Fruitland A Tell:(323) CON-CORD	The Bette	r choice	nia 90054	8 U.S.A		Page 8	of 8 Import
SOLD TO: DAK CREEK DISTRIBUTION LL HOME OWNERS BARGAIN OUTLET 2650 BELVIDERE ROAD WAUKEGAN, IL 60085 CONTACT: KEITH KELLY	5 - TI	HIP TO:	BRID	S. 78	3TH AVE 1, IL 604 .240	455	PAGE 1
Inv# Cust# Date Rep		Ship Vla		Tern			Invoice
16932901 HOBO26 06/29/18 Solly				K UNET	- 30 DAY		
Ln# Item# Cmark Description	ORIGN	Qshp	UM	РК	PCS	Unit \$	Total
<pre>1 72497 72497 2 BALL HANGING CANDLE H8.75W5.25 WARNING: To comply with requirements of Proposition 65 some products may conta substances chemicals known to state of Canser, birth dfects or other reproduct candles should not be left unattended.</pre>	of Calif ain leac F califo :ive har	fornia 1 or ot 9rnia t 9m. Bur	o caus ning	ę	47	3.00	141.00
are fragile and must be handled with o fill vases with heavy articles as they injuries. RETURN POIICY: No return at For more info on Prop 65 refer to www. TOTAL CASES: TOTAL WEIGHT:	care and / may br fter 10 .p65warr	l glove reak an days. iings.c	s. Do d caus a.gov	not e	AMOUNT ;	\$ 14	1.00 USD\$

## **Northern District of Illinois Claims Register**

### 18-30055 Oak Creek Distribution LLC

Honorable Judge: Jacqueline P. Cox

**Office:** Eastern Division

Chapter: 11 Last Date to file claims: Last Date to file (Govt):

#### **Trustee:**

Creditor: (27388129) Concord Import Coface North America Insurance Date: 12/19/2018 Company 650 College Road East, Suite 2005 Princeton, NJ 08540

Claim No: 21 Original Filed Original Entered Date: 12/19/2018

Status: Filed by: CR Entered by: Amy Schmidt Modified:

Amount claimed: \$6381.50

#### History:

Details 21-1 12/19/2018 Claim #21 filed by Concord Import, Amount claimed: \$6381.50 (Schmidt, Amy) Description: (21-1) 57429

Remarks:

### **Claims Register Summary**

Case Name: Oak Creek Distribution LLC **Case Number: 18-30055** Chapter: 11 Date Filed: 10/25/2018 **Total Number Of Claims:** 1

**Total Amount Claimed\*** \$6381.50

**Total Amount Allowed\*** 

\*Includes general unsecured claims

The values are reflective of the data entered. Always refer to claim documents for actual amounts.

	Claimed	Allowed
Secured		
Priority		
Administrative		